
S
3

S
4

S
5

E
.1

1

S
2

S
A

O
zn

a
č
e
n
í slo

u
p
u
 d

le
 v

ý
p
o
č
tu

 o
svě

tle
n
í: 2

/1

P
o
če

t s
vítid

e
l: 5

1
x
 sv

ítid
lo

 2
0
0
0
W

 

N
e
d
e

n
o
 p

o
 lá

v
ce

 u
vn

itř 
s
lo

u
p
u

 - so
u
čá

st d
o
d
á
vky

s
lo

u
p
u

K
a
b
e
ly v tru

b
ce

 v
 ze

m
i

5
1
x C

Y
K

Y
 4

J 2
,5

P
o
 ka

b
e
lo

vé
 lá

vce

R
sE

P
i =

 1
0

7
,1

kW
V

yza
řo

va
n

é
 te

p
lo

 : 5
,1

kW

R
E

K
O

N
S

T
R

U
K

C
E

 A
 M

O
D

E
R

N
IZ

A
C

E
 S

P
O

R
TO

V
N

ÍH
O

 A
R

E
Á

LU
,

t:+
4
2

0
 6

0
2
 4

2
5
 3

5
6
 ,f:+

4
2

0
 2

7
2
 0

4
7
 6

1
1

K
a
rlo

va
rs

ká
 1

1
0

4
/1

4
, 1

6
3
 0

0
 P

ra
h
a
 6



























lp
c
@

lp
c.cz , w

w
w

.lp
c
.c

z

D
1.4-03

O
S

V
Ě

T
LE

N
Í H

R
A

C
Í P

LO
C

H
Y

M
Ě

S
T

S
K

Ý
 S

T
A

D
IO

N
 V

 K
A

R
V

IN
É

 – R
Á

JI

E
LE

K
T

R
O

IN
S

T
A

LA
C

E
 - O

B
JE

K
T E


